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Question 1: (9 points) 

Answer only three of the following parts  

a. What are the two steps in locating a non-local variable in a static-scoped language with stack-
dynamic local variables and nested programs? 

 
 
 
 
 
 
 
 

b. List three of the tasks to be implemented when executing a return statement. 
 
 
 
 
 
 
 
 
 

c. Sketch an activation record for a program that supports only simple subprograms. 
 
 
 
 
 
 
 
 
 

d. List the two methods used for implementing blocks in a programming language. 
 
 
 
 
 
 
 
 



Question 2:  (6 points) 

Consider the following C program: 
 

int guess(int v) { 
 int temp; 
 if (v = 1) 
 return 1;   ----------------------   Test Point 
 else return (v + guess(v - 1)); 
 } 

void main() { 
 int value; 
 value := guess(3); 
 } 

 
Show a sketch of the activation records created during the execution of the statement at the shown test 
point.  
 


